MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

DI COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

Acurlite Structural Skylights, Inc.
1017 North Vine Street, P. O. Box 5
Berwick, PA 18603

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 9/16” Laminated Glass and Aluminum Extrusions Skylight System

APPROVAL DOCUMENT: Drawing No. LMNOA-001, titled “ Secure Series Large Missile " sheets 1 through
12 of 12, dated February 04, 2010, prepared by Acurlite, signed and sealed by Robert J. McCloy, P.E., on February
08, 2010, bearing the Miami-Dade County Product Control Approval stamp with the Notice of Acceptance number
and the approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, City, State, and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein,
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product,

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1, evidence submitted page E-1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E., M..S.

//M%? /f M_, NOA No. 10-0217.07

Expiration Date: 08/11/2015

| ! Date:
28 /1) J20)0 Approval Date 03/111)212::(1)




Acurlite Structural Skylights, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. LMNOA-001, titled *“ Secure Series Large Missile ” sheets 1
through 12 of 12, dated February 04, 2010, prepared by Acurlite, signed and
sealed by Robert J. McCloy, P.E., on February 08, 2010.

B. TESTS
1 Test report on Large Missile Impact Test, Cyclic Load Test, and Uniform Static
air Pressure Test on Acurlite Structural Skylights, prepared by HTL, Report No.
0541-0418-09, dated 12/14/09, signed and sealed by Vinu J. Abraham, P.E.
2. Corner joint pull-test, prepared by HTL, Report No. 0541-09] 0-09, dated
11/05/09, signed and sealed by Vinu J. Abraham, P.E.

C. CALCULATIONS
1. Calculation titled ““ Skylight Structural Calculations ”, pages 1 through 359 of
359, dated 01/22/10, signed and sealed by Robert J. McCloy, P.E.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance office.

E. MATERIAL CERTIFICATIONS
1. Die Drawings for Extrusion Members.

He A A L Al

(Helmy A. Makar, P.E., M.S.
Senior Product Control Examiner
NOA No. 10-0217.07

Expiration Date: 08/11/2015
Approval Date: 08/11/2010



Notes LARGE MISSILE

1. The skylight system indicated on these shop drawings has been verified for compliance in
accordance with the 2007 Florida Building Code. Maximum design pressure +80psf and -80psf.
2. The skylight system may be installed in High Velocity Hurricane Zone,

3. These shop drawings are generic and do not provide information for site specific projects.

3. Structural adequacy of the supporting structure is not part of this product approval. Design of

the supporting structure is the responsibility of the engineer of record for the project. g
4. Design of the supporting structure shall take into account the loads being transferred from the

skylight system (reactions) to the supporting structure.

5. The skylight system indicated on these shop drawings tested for large missile impact in
accordance with TAS 201/202/203.

6. See sheet 4 of 12 of these shop drawings for glazing options

7. Aluminum in contact with dissimilar materials shall be protected in accordacne with section
2003.8.4.2 of the Florida Building Code.

RN

<

o o
'

acurlite
engineering light

Acurtite Screctural Skylights Ioc.

1017 Nerch Vins Srest. PO Box §

Barwick, PA 18608

@ F079682 ®5AINIIA  sales@acurlite.com

DOUBLE PITCH WITH GABLE SINGLE PITCH WITH GABLE
g
~
®
SEGMENTED BARRELL QUATER VAULT  SEGMENTED BARRELL HALF VAULT
WITH GABLE WITH GABLE
A
x| wviuw
DADE COUNTY USE ENGINEER STAMP A § =
Pl
=1 g i S
Approved as complying with the e E< §O
Florida Building £ode NEJEU
Date 0?5:?2‘&:/0 |
NOA# [0~ 0O ]
Miami Dade Product Conlrol

Divisio
POLYCON POLYGON WITH JACK RAFTERS B _%ZM/ W,OWO
STRAIGHT EAVE LEAN-TO P /,o

WITH GABLE /&/ﬂ’ﬁ\( s
! 1 of 12




CRQSS SECTION Cs-1

SCALE : 3/8° = 1"-0°

15'-4 1/2°

OUT TO OUT OF CURB
15'~-8 9/16"

OUT TO OUT OF FLASHING

15'-4 1/2°

OUT TO OUT OF CURB
15'-8 9/16"

OUT TO OUT OF FLASHING

/ £ i s - / \ s / s / a
|
14
5 DAYLIGHT OPENING DAYLIGHT OPENING o
L SEE CROSS SECTION CS—1 SEE CROSS SECTION CS—1 2
F G . &
55 | 38
©d GLASS SIZE: CG-1 GLASS SIZE: CG—1 1z
¥ GLASS TYPE: A GLASS TYPE: C 3
-
iy LN S
3 &/
| _ _ il _ _ .
< T
‘ S
DAYLIGHT OPENING DAYLIGHT OPENING &
E SEE CROSS SECTION CS—2 ' SEE CROSS SECTION CS-2 3
L g 3
o X \52‘5 t 5 L] 3
<+ N <
NG a =
"o GLASS SIZE: CG-2 GLASS SIZE: CG-2 =G kg
0 GLASS TYPE: B GLASS TYPE: C 5 To
g ¥ ‘;’ +F
o b
s 3
’ P s
Q R~ [
(=
| ¥ 5
— — == — — Q 1
| S £ 3
/A LU LA
6 6 5
B N & NN
2 | 63 2
L O @
~
wS GLASS SIZE: CG-3 GLASS SIZE: CG-3 GLASS SIZE: CG-3 GLASS SIZE: CG-3 5
©d GLASS TYPE: B GLASS TYPE: B GLASS TYPE: C GLASS TYPE: C e |
- - O
Ye DAYLIGHT OPENING DAYLIGHT OPENING DAYUIGHT OPENING DAYUIGHT OPENING hE=
, ~— SEE CROSS SECTION —|l— SEE CROSS SECTION —|| | [ [— SEE CROSS SECTION —{ [— SEE CROSS SECTION —| p:3
3 cs-3 cs-3 cs-3
PLAN VIEW \ SEAL INTERSECTION OF ALL PRESSURE CAPS 12

12
5(22.62°

SCALE : 3/8° = 1'-0"

AND COVER CAPS. USE DOW CORNING 795

$-0°

211"
[=—— DAYLIGHT —
OPENING

GLASS SIZE: CG—-4
GLASS TYPE: A

GLASS SIZE: CG-5
GLASS TYPE: C

CROSS SECTION CS-3

SCALE : 3/8° = 1'-0°

15'-4 1/2°

OUT TO OUT OF CURB
15'-8 9/16"

2’-11"
[—— DAYLIGHT —
OPENING

7

.

7-0 1/32°
AYLIGHT OPENING

Jal
}
15'-8 9/16"
OUT TO OUT OF FLASHING

GABLE VIEW

SCALE : 3/8° = 1"-0"

7'-0 1/32
DAYUGHT OPENI

3/8 X 3 X3 X 4LONG

INTERMEDIATE PURLIN SUPPORT ANGLE

ATTACH TO CURB USING 1/2—13 HEX HD TAP BOLT

DRILL AND TAP INTO STEEL

ATTACH TO PURLIN USING (4) #12 X 1 H.WH. TEK SCREWS
QUANTITY, SIZE AND REQUIRMENT OF SUCH BASED ON
SIZE AND GEOMTRY OF SKYLIGHT

(NOT PART OF PRODUCT APPROVAL)

NOTES:

SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.

OUT TO OUT OF FLASHING

DATE:

Gid

REV.

RN

|

sates@acurlite.com

DADE COUNTY USE

ENGINEER STAMP

Approved as complying with the
Florida Building Code

Date 08/)i /2¢0]0
NOA#]0-02]7. 07
Miami Dade Product Control

By e Mo, At
4

281
oﬁNég
— ¥
Sy n 5
:sti,!go
o fg
“ o
il
@

=

S

~N

©
)
prd
O
|_
<
>
N "_"J‘
=g
| i N

w| wn
= Z
HEE
s LW | o»n
1ISfopz
U k<
wR<C & J




NOTES:

1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.

S AL

I <l | |
I : 1 I
_ o - @] | © © @ ©
: I | | i |
_ _—“ [ u ‘ ; ’1
_ 1 11 | T | I k §
1112 I | I 1 Ll I
1t 11 i || Mt ' 1l I
1 | i il |11 I
il 11! I | il l il 11 I
o [ [ || Rl \ o lfft 1! I
2 P | z il
ol i | N | [
N - 111 ‘ i 11 | NCE Rl I @
7% Sss e o | (- | - 1 U s
75 1 ! |1 | 2 fit i |
° 1 11 I 1 1 | <1 11 B
1 11 I 11 ML \ 1 111 ! AY g
| I 2 w | o0 e w (0 %:%t:
g o EREE] [N [N (. N
g 2 & 8C Bewz o | Be EMl o B W0 | | <EEEED
A SS GLASS SIZE: CG-1 D\ ] GLASS SIZE: CG-2 }3 ~ogy ‘ ko.,.ﬁ : o ‘ - age O
L Tt GLASS TYPE: C 8 % GLASS TYPE: C &2 =2 h 5= |fHil \ Sl= | A | LI .!‘ ’
&/ 5 2/ o o o0~ | 000 , =] 1 “_io
3 R 73 TolsWln 0 ToeE My Jo [ <ie §
g Jo no 2D »R215 , > 2 ‘ oyl
| 3 | ~2 | i1 [N =] VR R [ N R o2 {18
3 s 3 M o 3w o 3| e Dsigis
|| i i SR F
| - | (- | | ¥l
o 11 [ I 11 | o [l I [ e
. % GLASS SIZE: CG-3 i il | il |11 | . %“ il I o
N OLASS TPE: € o { (- N (. 3
5 Iif 11 H L] \ 25! h o
" I B ! L] 1 sl I )
=z i -3 i
e I ! | Il l o i I
i l il ! 111 I
| 1l ! E Il 1 1| M I
1l 11 I Il \ I 11l I
69 i !l ! 1l J 1 1 I
L n L | L n -
pd
L ) 0 © O o
T = * ; = [
I — - <
I ] I ] >
e - e e - CS-4 CS-5 CS-6 Al w é
= - 4-4 1/4" T— TP T—
DAYLIGHT OPENING bAviaHT CPENNG DAYLIGHT GPENIN SOME : 3¢ = 1O SCNE: M4 = 1O LR -~ v, o
4-6 3/4" ' . — o w| v
C.L. TO C.L. 044RAFTER C.L TO4C.E. ::)/F4RAFTER C.L T04C.E. ::)/F4RAF R ADE COUNTY USE ENGINEER STAMP b E %
14-1 1/4" L
QUT TO OUT QOF FLASHING g % " t‘-‘) " L£
o |
TEST SPECIMEN ELEVATION Approved as complying with the DESES
SCALE : 3/4" = 1'-07 Florida Building Code E g B O
Dae © 2ole SRR 15
NOA¥ 6= 0Z]7.07
Miami Dade Product Control




SIZE
CG—1 54 x 99
CG—2 54 x 96
CG—3154 x 49 5/8
CG—4 | SEE PATTERN
CG—5| SEE PATTERN

.035 DUPONT SENTRYGLAS PLUS INTERLAYER
(NOA # 07-1116.04) |

/ 1/4° TEMPERED GLASS

.060 Solutia Saflex PVB INTERLAYER

—9/16" —

1/4" TEMPERED GLASS/

GLASS TYPE A

—3-1 1/4" —~1

CG—4

L— -1 1/4"

7-5 3/8"

CG—-5

7'-5 3/8"

/ 1/4" TEMPERED GLASS

(NOA # 03-0827-08) — |

— 9/16" —|

1/4" TEMPERED GLASS/

GLASS TYPE B

NOTES:

1. SEE SHEET 2 AND 3 OF 12 FOR LOCATIONS OF GLASS SIZES AND

TYPES.

.090 DUPONT SENTRYGLAS PLUS INTERLAYER

/1 /4" TEMPERED GLASS

(NOA # 07-1116.04)

- 9/16" |

1/4" TEMPERED GLASS

/

GLASS TYPE C

1017 Nocch Vins Scoeec. PO Box 3

Bacwick, PA 10603

acurlite
engineering light

Acuctive Saruccazal Skylights Inc.

2/4/10

©

© Vormes @ osmesa  sales@acurlite.com  feT e T o

DADE COUNTY USE

ENGINEER STAMP

Approved as complying withthe

Florida Building Code
Date 0 20]o
NOA# |0 -0217.0
Miami Dade Product Conirol
Divisiol

By

i

LARGE MISSLE
GLAZING




5(22.62°

CONT. EPDM GASKET

1/4 x 1/2 SETTING BLOCK
(2) PER BAY 4 LONG LOCATED & 1/4 POINTS

1/4-20 X 1 3/4 HW.H. SCREW TYPE “F"

LOCATED ® 6 0..C.
ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

3/16 ALUMINUM GLASS REST
(2) PER BAY 4 LONG LOCATED @ 1/4 POINTS
S08545 EXTRUDED ALUMINUM COVER CAP

S35591 EXTRUDED ALUMINUM PRESSURE CAP

1/8 x 1/4 ALUMINUM POP RIVET
LOCATED © 4" O.C.
ATTACH CLOSURE FLASHING TO ANGLE SPACER

3/8-16 X 3 1/2 HEX HD. CAP SCREW

1/4-20 x 1 FLAT HD SCREW
ATTACH RAFTER TO INTERNAL

LUG

WITH FINISH NUT, LOCKWASHER
AND FLAT WASHERS BOTH SIDES
= ATTACH INTERNAL LUG TO RAFTER

EXTRUDED OR FORMED COMPRESSION RING
USED FOR DIFFERENT CONFIGURATIONS

T0O0985 EXTRUDED ALUMINUM INTERNAL LUG

I g
J' S
5
L HIP ¥
.040 FORMED ALUMINUM ANGLE SPACER
DETAIL AY 2 o, 5
K #12 x 1 HWH, TEK SCREW 1/4-20 X 1 3/4 H.WH. SCREW TYPE F" 5% '.k% E
LOCATED @ 12” O.C. LOCATED © 6 0..C. %\,\b =
ATTAGH ANGLE SPACER T PURLI ATEACH, PSSR CAF 10, AT, v DADE COUNTY USE | <>
#14 x 1 1/2 HWH. TEK SCREW /.040 FORMED ALUMINUM COVER CAP 3
21, — ATTACH PURLIN TO RAFTER \ .125 FORMED ALUMINUM PRESSURE CAP LI i i
2 (2) PER END (4) PER PURLIN il {__/~ CONT. 5/16 X 1/2 FOAM TAPE .00
D =~
| HO8857 EXTRUDED ALUMINUM PURLIN l*’ T o o e T o= qg [ E
. 5/8-11 HEX HD. CAP SCREW X Approvedasmmplyingwlﬂl'hc (IR 3
© WITH FINISH NUT, LOCKWASHER P T T Florida Building Code $ jdde
< AND FLAT WASHERS BOTH SIDES oD 0B/l /2 clo =3 05s
0 ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER.-~~ S TN Date 577-07 Q B 1
: 41/2" LONG AT INTERIOR RAFTERS — - N(_)A#__lx_e_l_leoml qi }
1 1/2° AT EACH CORNER B Miami Dade Product 3548
-— .040 FORMED ALUMINUM CLOSURE FLASHING — Divisiogl) / /4 M\/ ®
3/8 x 4 x 4 x 6 9/16 LONG By -
= i i . STRUCTURAL ALUMINUM ANGLE IZ4 e
 — 187167 l=—2 11/32 2 11/32 15/16"/[= (2) PER INTERIOR RAFTER N
< (1) AT EACH CORNER ~
< 1/2-13 x 2 GRADE 5 HEX HD. TAP BOLT I
" WITH FLAT AND LOCKWASHER CONT. EPDM GASKET °
DRILL AND TAP INTO STEEL P
ATTACH STRUCTURAL ALUMINUM ANGLE TO STEEL - P DADE COUNTY USE
e e /’/// s
SEAL IN AND ARGUND LUG AND FASTENER — Pl HO8858 EXTRUDED ALUMINUM RAFTER
USE DOW CORNING 795 SILICONE P
«040 FORMED ALUMINUM SILL PLATE Pt 700985 [EXTRUDED ALUMINUM
=7 -7
#10 x 1/2 S/S PAN HD. SM.S. - @ ~ . INTERNAL LUG
LOCATED @ 12° 0.C. !
ATTACH CLOSURE FLASHING TO SILL PLATE
3/16 x 1/2 FOAM TAPE 1/4-20[ x 1 FLAT HD SCREW
ALLOW 3/4" INTERRUPT © EACH RAFTER C.L. ATTACH|RAFTER TO INTERNAL LUG
STEEL TUBE
(NOT PART OF PRODUCT APPROVAL)
SEE DETAIL 16 ON SHEET 9 FOR il
CONCRETE CONNECTION DETAIL oY
.@ i wv
ENGINEER STAMP r A=
Ll =2l w
i
o | w | =
, iSgop<
@ 3/8-16 |X 3 1/2 HEX HD. CAP SCREW Uk B
WTH FINISH NUT, LOCKWASHER OB B
. AND FLAT WASHERS BOTH SIDES wniEJEQO
— ATTACH [INTERNAL LUG TO RAFTER ROENT
7
o
- 21/2°
- 1/4-20{x 1 FLAT HD SCREW TYPE 4
ATTACH |RAFTER TO, GUSIR] PLATE S
SILL
DETAIL HIP 0 I
DETAIL » 5 "?] 5
NOTES: 0
1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.




THIS DETAIL NOT PART OF
LARGE MISSILE PRODUCT APPROVAL

" ’/r
=
I
o
=
-
P
-
—
- -
-
.7 =
- - /J///{
— L
- -
o
i
|
|
[
|
\
.
1’
\
\'
J
\
|
\
|
|
L

12
5122.62°

.040 FORMED ALUMINUM CLOSURE FLASHING

#2 x 1 HW.H. TEK SCREW
—— LOCATED @ 12° O.C.
ATTACH ANGLE SPACER TO PURUN
.040 FORMED ALUMINUM ANGLE SPACER

1/8 x 1/4 ALUMINUM POP RIVET

LOCATED @ 127 0.C.

ATTACH CLOSURE FLASHING TO ANGLE SPACER

1/4-20 X 1 3/4 H.W.H. SCREW TYPE "F"
LOCATED @ 6" O..C.

ATTACH PRESSURE CAP TO RAFTER

EMBED HD IN DOW CORNING 795 SILICONE
S08545 EXTRUDED ALUMINUM COVER CAP
$35591 EXTRUDED ALUMINUM PRESSURE CAP

CONT. SILUCONE SEALANT
USE DOW CORNING 795

CONT. EPDM GASKET

#4 x 1 1/2 HWH. TEK SCREW
ATTACH PURLIN TO RAFTER
(2) PER END (4) PER PURUN

HO08857 EXTRUDED ALUMINUM PURLIN
‘ 1/4 ALUMINUM GUSSET PLATE
(2) PER RAFTER

1/4-20 x 1 FLAT HD SCREW TYPE "F"
ATTACH RAFTER TO GUSSET PLATE

_/ 4\ RIDGE/KNEE

NOTES:
1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.

1/4-20 X 1 3/4 H.WH. SCREW TYPE "F"
LOCATED @ 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

S08545 EXTRUDED ALUMINUM COVER CAP

$35591 EXTRUDED ALUMINUM PRESSURE CAP

CONT. SILICONE SEALANT
USE DOW CORNING 795

CONT. EPDOM GASKET

#14 x 1 1/2 HW.H. TEK SCREW
= ATTACH PURLIN TO RAFTER
~ (2) PER END (4) PER PURLIN

HO8857 EXTRUDED ALUMINUM PURUN

/5 HORIZONTAL
\6/ DETAIL

DADE COUNTY USE ENGINEER STAMP

Approved as complying with the

Florida Builging Code

Date 08 /11 / 2c/o
NOA#]p-0217.07
Miami Dade Product Control

§
]
% £
}%a\'kg
"s‘*&&.
b L] 2
S35,
oﬁ"#g
v %0 !
(R 35
=HEE
okl
W RBE
S
=]
~N
N
~
©
D
x| »n
ui| v
S|o
_32.5 ,Z
CEZES




1/4-20 X 1 3/4 H.W.H. SCREW TYPE “F°
LOCATED @ 6° O..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

-

CONT. SILICONE SEALANT
USE DOW CORNING 795

.040 FORMED ALUMINUM ANGLE SPACER

#12 x 1 HWH. TEK SCREW

LOCATED €@ 12" O.C.
ATTACH ANGLE SPACER TO PURUIN

.040 FORMED ALUMINUM CLOSURE FLASHING

#12 x 1 HW.H. TEK SCREW
LOCATED €@ 12" O.C.
ATTACH ANGLE SPACER TO PURLIN

.040 FORMED ALUMINUM ANGLE SPACER

S08545 EXTRUDED ALUMINUM COVER CAP\
$35591 EXTRUDED ALUMINUM PRESSURE CAP\

1/4-20 X 1 3/4 H.WH. SCREW TYPE “F
LOCATED @ 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER \|
EMBED HD IN DOW CORNING 795 SILICONE

#12 x 1 HWH. TEK SCREW

LOCATED @ 12" 0.C.

ATTACH SLOPE PURLIN TO SLOPE RAFTER —
ALSO ATTACH VERTICAL GABLE POST AT APEX
USING (4) FASTENERS

CONT. EPDM GASKET

e —

#14 x 1 1/2 HWH. TEK SCREW
ATTACH PURLIN TO RAFTER
(2) PER END (4) PER PURLIN

#12 X 1 HWH. TEK SCREW

ATTACH PURLIN TO SLOPE RAFTERS AT ENDS
AND GABE POST AT CENTER

(3) AT EACH END AND (4) AT CENTER

CONT. SILICONE SEALANT
USE DOW CORNING 795

CONT. EPDM GASKET—\i ;

S08545 EXTRUDED ALUMINUM COVER CAP\
$35591 EXTRUDED ALUMINUM PRESSURE CAP\

1/4-20 X 1 3/4 H.WH. SCREW TYPE °F
LOCATED © 6" 0..C,

ATTACH PRESSURE CAP TO RAFTER \
EMBED HD IN DOW CORNING 785 SILICONE

#12 x 1 HWH. TEK SCREW

' E E } GABLE HEAD
DETAIL3/8 X 3 x3x21/2 LONG

STRUCTURAL ALUMINUM ANGLE

LOCATED @ 12” O.C.
ATTACH ANGLE SPACER TO PURLIN

.040 FORMED ALUMINUM ANGLE SPACER
.040 FORMED ALUMINUM CLOSURE FLASHING

WTH FLAT AND LOCKWASHER

S08545 EXTRUDED ALUMINUM COVER CAP
/[ $35591 EXTRUDED ALUMINUM PRESSURE CAP

1/4=20 X 1 3/4 H.W.H. SCREW TYPE "F*

LOCATED @ 6” 0..C.

ATTACH PRESSURE CAP TO RAFTER

e g R AR

/- S35591 EXTRUDED ALUMINUM PRESSURE CAP

CONT, SILICONE SEALANT
USE DOW CORNING 795

\~H08857 EXTRUDED ALUMINUM PURLIN

HO08858 EXTRUDED ALUMINUM RAFTER —]

———— HO8858 EXTRUDED ALUMINUM RAFTER

T ol N

AN

RAFTER
DETAIL

(1) PER EACH SIDE OF GABLE POST

(2) PER, GONNEGTIQN, /5 WEX HD. CAP SCREW
WITH FINISH NOT, LOCKWASHER
AND FLAT WASHERS BOTH SIDES
ATTACH STRUCTURAL ALUMINUM
ANGLE TO GABLE POST

1/2-13 x 2 HEX HD. TAP BOLT

DRILL AND TAP INTO STEEL
ATTACH STRUCTURAL ALUMINUM ANGLE TO STEEL
SEAL IN AND AROUND LUG AND FASTENER
USE DOW CORNING 795 SILICONE

7/8"

CONT. EPDM GASKET

#2 x 1 HWH. TEK SCREW
LOCATED © 12" O.C. CONT. EPDM GASKET
ATTACH ANGLE SPACER TO PURUN

\—H08857 EXTRUDED ALUMINUM PURLIN

#14 x 11/2 HWH. TEK SCREW
ATTACH PURLIN TO RAFTER
(2) PER END (4) PER PURLIN

T00985 EXTRUDED ALUMINUM

1/4—20 x 1 FLAT HD SCREW
ATTACH RAFTER TO INTERNAL LUG

3/8-16 X 3 1/2 HEX HD. CAP SCREW
WITH FINISH NUT, LOCKWASHER

i

BP= | N
AND FLAT WASHERS BOTH SIDES ‘ m‘\ == == —|—= —

|

ATTACH INTERNAL LUG TO RAFTER

- H01071 EXTRUDED ALUMINUM TUBE

CONT. EPDM GASKET

#2 x 1 HW.H. TEK SCREW

LOCATED © 12" O.C.

ATTACH PURLIN TO TUBE

~—— $31713 EXTRUDED ALUMINUM PURLIN

.040 FORMED ALUMINUM CLOSURE FLASHING

1/4-20 X 1 3/4 H.W.H. SCREW TYPE °F"
LOCATED @ 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

S08545 EXTRUDED ALUMINUM COVER CAP

$35591 EXTRUDED ALUMINUM PRESSURE CAP\

CONT. SILICONE SEALANT
USE DOW CORNING 795

INTERNAL LUG f
|

I

GUSSET PLATES
NOT SHOWN
FOR CLARITY

FACE OF TEST BUCK
(NOT FOR PRODUCT APPROVAL)

\”_/  DETAIL

s

£

o

i

sales@acurlite.com

_/ 9\ JAMB RAFTER

7/8"

DADE COUNTY USE

ENGINEER STAMP

\3

.040 FORMED ALUMINUM SILL PLATE
#10 x 1/2 S/S PAN HD. SM.S.

LOCATED @ 12" 0.C. —

ATTACH CLOSURE FLASHING TO SILL PLATE

3/16 x 1/2 FOAM TAPE
ALLOW 3/4° INTERRUPT ©@ EACH RAFTER C.L.

TEK SCREW EMBEDED IN SEALANT /
USED FOR INSTALLATION PURPOSES
NOT PART OF PRODUCT APPROVAL

s E 7

_/5\_GABLE SILL o
‘ DETAIL 1

10
7

S:
SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.

\_\ 35591 EXTRUDED ALUMINUM PRESSURE |CA
SP8545 EXTRUDED ALUMINUM ‘COVER CAP
1/4~20 X 1 3/4 H.WH. SCREW TYPE "F"

CONT. SILICONE SEALANT
USE DOW CORNING 795

LOCATED @ 6" 0..C.

ATTAGH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

GABLE POST
DETAIL

PApproved as complying with the
Fiorida Building Code
Date 0 8/ 200 4
NOA# Jo—-02.1T7.07
Miami Dade Product Control vvl\

lg;visio# (/% / M/

V3 i
,‘:mgei
RS 3
:aib'f’
Ol
S 548
-]

=

3

©
(Vs
oY
X! wv
Wy
Ll 2|9
|l wf =
DREOUO P
Uksx EF
wR<




WOOD BLOCKING
(NOT PART OF PRODUCT APPROVAL

.040 FORMED ALUMINUM CLOSURE FLASHING

WOO0D BLOCKING

(NOT PART OF PRODUCT APPROVAL)

.040 FORMED ALUMINUM CLOSURE FLASHING —

#12 x 1 HWH. TEK SCREW
LOCATED @ 12° O.C.
ATTACH ANGLE SPACER TO PURUN

.040 FORMED ALUMINUM ANGLE SPACER

#12 x 1 HWH. TEK SCREW
LOCATED @ 12" 0O.C.
IN\_1/2 x 4 HEX HD LAG SCREW WITH FLAT WASHERTTACH ANGLE SPACER TO PURLIN

ATTACH ALUMINUM ANGLE TO TEST BUCK
.040 FORMED ALUMINUM ANGLE SPACER

1/4-20 X 1 3/4 H.WH. SCREW TYPE “F"
LOCATED @ 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE
.125 FORMED ALUMINUM PRESSURE CAP i
CONT. 5/16 X 1/2 FOAM TAPE -/ [

CONT. SIUCONE SEALANT /||
USE DOW CORNING 795 |

I
|

T00985 EXTRUDED ALUMINUM

INTERNAL LUG
e HIP
\8/ DETAIL

\_3/8x3x3x8LONG
STRUCTURAL ALUMINUM ANGLE

1/2-13 X 4 1/2 HEX HD. CAP SCREW

| WITH FINISH NUT, LOCKWASHER

AND FLAT WASHERS BOTH SIDES

ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER 1/8 x 1/4 ALUMINUM POP RIVET

LOCATED @ 12° 0O.C.

")) 7 ATTACH CLOSURE FLASHING TO ANGLE SPACER

1/4—20 X 1 3/4 H.WH. SCREW TYPE “F"
LOCATED @ 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER

EMBED HD IN DOW CORNING 795 SILICONE
$35591 EXTRUDED ALUMINUM PRESSURE CAP

S08545 EXTRUDED ALUMINUM COVER CAP

H08858 EXTRUDED ALUMINUM RAFTER
1/4-20 x 1 FLAT HD SCREW TYPE "F"

ATTACH RAFTER TO INTERNAL LUG CONT. EPDM GASKET

3/8-16 X 3 1/2 HEX HD. CAP SCREW
WITH FINISH NUT, LOCKWASHER

AND FLAT WASHERS BOTH SIDES
ATTACH INTERNAL LUG TO RAFTER

#14 x 1 1/2 HW.H. TEK SCREW

CONT. EPDM GASKET \

ATTACH PURLUIN TO RAFTER
(2) PER END (4) PER PURUN
HO8857 EXTRUDED ALUMINUM PURUN

\

$355691 EXTRUDED ALUMINUM PRESSURE CAP
‘ 1/4-20 X 1 3/4 H.WH. SCREW TYPE "F"
LOCATED @ 6" 0..C.

=2

S08545 EXTRUDED ALUMINUM COVER CAP \

1/4 x 1/2 SETTING BLOCK

(2) PER BAY 4 LONG LOCATED @ 1/4 POINTS \
3/16 ALUMINUM G(ASS REST [N

(2) PER BAY 4 LONG LOCATED @ 1/4 POINTS “[®§
1/4~20 X 1 3/4 H.W.H. SCREW TYPE "F"

1/2-13 X 4 1/2 HEX HD. CAP SCREW
WITH FINISH NUT, LOCKWASHER
/"~ AND FLAT WASHERS BOTH SIDES

29/32"

J
{
|

3/8 x 3 x 3 x 8 LONG

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

3/16 ALUMINUM GLASS REST (g

2) PER BAY 4 LONG LOCATED @ 1/4 POINTS
ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER( 1/4 % 1/2 SETTING BLOCK

(2) PER BAY 4 LONG LOCATED & 1/4 POINTS

LOCATED @ 6 0..C.

ATTACH PRESSURE CAP TO RAFTER

EMBED HD IN DOW CORNING 795 SILICONE
S35591 EXTRUDED ALUMINUM PRESSURE CAP

| /STRUCTURAL ALUMINUM ANGLE

S08545 EXTRUDED ALUMINUM COVER CAP

1/8 x 1/4 ALUMINUM POP RIVET
LOCATED @ 12" 0.C.
ATTACH CLOSURE FLASHING TO ANGLE SPACER

1/2 x 4 HEX HD LAG SCREW WITH FLAT WASHER
/— ATTACH ALUMINUM ANGLE TO TEST BUCK

[
.040 FORMED ALUMINUM ANGLE SPACER—/ ‘
#12 x 1 HW.H. TEK SCREW

i

|
CONT. EPDM GASKET/

]
A\l

™~

e

/

\\__1/2 x 4 HEX HD LAG SCREW WTH FLAT WASHER
ATTACH ALUMINUM ANGLE TO TEST BUCK

\\J/BxsxsxaLonc

STRUCTURAL ALUMINUM ANGLE

1/2-13 X 4 1/2 HEX HD. CAP SCREW

| WITH FINISH NUT, LOCKWASHER

AND FLAT WASHERS BOTH SIDES

ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER

— 27/32"

\
|
|
\
|
f |
|
| ]
I
I

HOB857 EXTRUDED ALUMINUM PURLIN
#4 x 1 1/2 HWH. TEK SCREW
ATTACH PURLIN TO RAFTER
(2) PER END (4) PER PURLIN

e RIDGE
\8/ DETAIL

P i

H 8 1

| & (|

||

[

‘ 1

(|

| 1

§ l

HO08857 EXTRUDED ALUMINUM PURUIN
#14 x 1 1/2 HWH, TEK SCREW
ATTACH PURUN TO RAFTER
(2) PER END (4) PER PURUN

/T2\ HORIZONTAL
DETAIL

DATE:

DADE COUNTY USE ENGINEER STAMP

LOCATED © 12" O.C.
ATTACH ANGLE SPACER TO PURLIN

.040 FORMED ALUMINUM CLOSURE FLASHING —|

i

TR e

B o

A

SILL
DETAIL

BNV,
WOOD BLOCKING
(NOT PART OF PRODUCT APPROVAL)

NOTES:
1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES,

Approved as complying with the
Fiorida Building Code

Date © -7l

NOA# ~-02 .07
Miami Dade Product Controt
Divisio

By __.

8
'b%% c
A
%%%ul&
Vi’
,‘;::::gz g
1—1.0!
—E148
= il
SHiE
SR
(-]
=
3
~N
©
o
x| wn
w9
p=
] R
iSO«
okx EH-
W< g




.040 FORMED ALUMINUM CLOSURE FLASHING

x 1 H.W.H. TEK SCREW
LOCATED @ 12" 0O.C.
ATTACH ANGLE SPACER TO PURLIN

.040 FORMED ,al.ZUMINUM ANGLE_SPACER

WOOD BLOCKING
(NOT PART OF PRODUCT APPROVAL)

~ s TN 5[22.62
ST
< N
~ T
~. ~ T ~
Tl N
~~ - S~ ‘\
1/4~20 X 1 3/4 HW.H. SCREW TYPE “F" - _ T~ N i
LOCATED © 6" 0..C. R ™~ ~
ATTACH PRESSURE CAP TO RAFTER T ~ ~ ~ >
EMBED HD IN DOW CORNING 795 SILICONE ~. ™ _ ™ ~ >
S08545 EXTRUDED ALUMINUM COVER CAP " - ™~
~— ~ ~ N ~
~ ~
$35591 EXTRUDED ALUMINUM PRESSURE CAP ~. T~ N ~
CONT. SILICONE SEALANT S~ )
USE DOW CORNING 795 ~ >~ ™~
~ . T
A | i
.
\
' \H08857 EXTRUDED ALUMINUM PURLIN
7/8\  j4 x 1 1/2 HWH. TEK SCREW
ATTACH PURLIN TO RAFTER |
(2) PER END (4) PER PURLIN.
w0
T T } <
Q.
I/
—2 11/32" ——|—— 2 11/32" 15/167/[=
~
~
™~ ~.
(15\___JAMB /
=
\3/ DETAILL
QUATER SCALE
— . = <
4 . 4. av
< . .<1
'a.v . -,
T
. ‘ <.
. <’ - . @
b ol a
4 < .
< - 4 .
a'. & .' a : - ‘.

CONT. EPDM GASKET

1/4 x 1/2 SETTING BLOCK
(2) PER BAY 4 LONG LOCATED @ 1/4 POINTS

1/4-20 X 1 3/4 H.WH. SCREW TYPE °F"
LOCATED © 6" 0..C.

ATTACH PRESSURE CAP TO RAFTER
EMBED HD IN DOW CORNING 795 SILICONE

3/16 ALUMINUM GLASS REST
(2) PER BAY 4 LONG LOCATED @ 1/4 POINTS
S08545 EXTRUDED ALUMINUM COVER CAP

$35591 EXTRUDED ALUMINUM PRESSURE CAP

1/8 x 1/4 ALUMINUM POP RIVET

LOCATED © 4" O.C.
ATTACH CLOSURE FLASHING TO ANGLE SPACER

)
\\.040 FORMED ALUMINUM ANGLE SPACER

\ #2 x 1 HWH. TEK SCREW
LOCATED © 12" 0O.C.
ATTACH ANGLE SPACER TO PURLIN

#4 x 11/2 HWH. TEK SCREW
——— ATTACH PURLIN TO RAFTER
(2) PER END (4) PER PURLIN

H08857 EXTRUDED ALUMINUM PURLIN

5/8=11 HEX HD. CAP SCREW
WITH FINISH NUT, LOCKWASHER
AND FLAT WASHERS BOTH SIDES

ATTACH STRUCTURAL ALUMINUM ANGLE TO RAFTER
4 1/2° LONG AT INTERIOR RAFTERS

1 1/2° AT EACH CORNER

——— 040 FORMED ALUMINUM CLOSURE FLASHING

3/8 x 4 x 4 x 6 9/16 LONG

STRUCTURAL ALUMINUM ANGLE

(2) PER INTERIOR RAFTER

(1) AT EACH CORNER

5/8" DIAMETER ITW RED HEAD ADHESIVE ANCHOR WITH
A7 ACRYUC ADHESIVE 5 5/8" MINIMUM EMBEDMENT
CENTERED IN WALL WITH ASTM A193 GRADE B7

(SAE 4140) THREADED STEEL ROD WITH FLAT AND LOCKWASHER
LOCATE AT 2 1/4" MAXIMUM FROM HEEL OF ANGLE
SEAL IN AND AROUND LUG AND FASTENER

USE DOW CORNING 795 SILICONE

NOTES:
1. SEE SHEET 4 OF 12 FOR

/7o) SILL
\O_/ DETAIL

HALF SCALE

GLASS SIZES AND TYPES.

.040 FORMED ALUMINUM SILL PLATE

#10 x 1/2 S/S PAN HD. SM.S.

—— LOCATED @ 12~
ATTACH CLOSURE FLASHING TO SILL PLATE

3/16 x 1/2 FOAM TAPE
ALLOW 3/4" INTERRUPT @ EACH RAFTER C.L.

CONCRETE CURB

4
/ (NOT PART OF PRODUCT APPROVAL)

DADE COUNTY USE

ENGINEER STAMP

Approved as complying with the

Florida Builging Code
Date QEZ[LZZLQ lo
NoA#Jo-0217.07 .

Miami derductComl
Dmsxo}? ZZ f:

g
i
"", £
%&
TR
8“52
o g ¥4
-'-:'Toggé
8
=N i
o il
3548
-]
©
|
x| wn
iy
w2y
iSgop<
OkLkx EF
LB @i




WEEPAGE AT SILL

FROM HERE IT WILL WORK

ITS WAY FORWARD TO THE

EDGE OF THE SILL PLATE

AND DRAIN AT THE 3/4" VOID

IN THE SPONGE GASKET.

VOID FILLED WITH 30 PPl WEEP BAFFLE.

WEEPAGE AT INTERMEDIATE

THE WATER THEN RUNS
DOWN THE CONDENSATION
TRACK ONTO THE SILL PLATE.

IF ANY WATER WOULD
HAPPEN TO PENETRATE THE
SILICONE JOINT IT WOULD
BE PICKED UP IN THE

WELL OF THE PURLIN

AND TRANSFERRED TO

THE CONDENSATION -
TRACK OF THE RAFTER.

THE WATER THEN RUNS
DOWN THE CONDENSATION
TRACK TO THE SILL PLATE.

IF ANY WATER WOULD
HAPPEN TO PENETRATE THE
SILICONE JOINT IT WOULD
BE PICKED UP IN THE

WELL OF THE PURLIN

AND TRANSFERRED TO

THE CONDENSATION

JRACK OF THE RAFTER.

7

NOTES:
1.

SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.

N
2/ ‘,{/
A /7

Y

Vi

3/8-16 X 1 1/2 HEX HD. TAP BOLT
WITH FINISH NUT, LOCKWASHER
AND FLAT WASHERS BOTH SIDES
ATTACH INTERNAL LUG TO COMPRESSION RING

__T00985 EXTRUDED
ALUMINUM INTERNAL LUG

1/4-20 x 1 FLAT HD SCREW TYPE "F"
ATTACH RAFTER TO INTERNAL LUG

€5

| A\

COMP. RING

DETAIL

o

2
7

NN

é

acurlite
engineering light
© MTNSRPsINMR  sales@acurlite.com [ TAe T paE

Acurlive Soructural Skylights Lac,

1017 Nocth Vias Strest. PO Box 3

Barwick, PA 10603

DADE COUNTY USE ENGINEER STAMP

Approved as complying with the

Florida Building Code
Date 2 20/o

NOA# J0- 0 .07

Miami D/:yle Product Control Yf\’

Division,

By _ bl|0

o
<
&
~
~N
©
W
w
w4
x| wn
w|
ﬂ = wn
il
S| W | =
QDU <
okt B
él.u<t'-'-‘
nEJEQO

10 of 12




8.000
&

4.153

3.847

— 0125

-— 1.250 —i— 1.250 —

2.500
Area: 4.0777
Perimeter: 54,9115
Bounding box: X: -1.2500 -- 1.2500
Y: -4.1528 -- 3.8472
Moments of inertia: X: 31.3863
Y: 3.5664
Product of inertia: XY: 0.0000
Radii of gyration: X: 2.7743
Y: 0.9352

Principal moments and X-Y directions about centroid:

I; 3.5664 along [0.0000 1.0000]

J: 31,3863 dlong [—1.0000 0.0000]
Weight per lineal foot: 4,77 Ibs.

Aluminum Alloy: 6063-T6
HALF SCALE
o
©
n
o i 2.500 i
T 5
5 g 0
L 0
o
o
Area: 0.2110
Perimeter: 7.5289
Bounding box: X: =1.2500 --— 1.2500
Y: -0.4392 --— 0.1228
Moments of inertia: X: 0.0049
Y: 0.1783
Product of inertia: XY: 0.0000
Radii of gyration: X: 0.1527
Y: 0.9191

Principal moments and X-—Y directions about centroid:

l: 0.0049 along [1.0000 0.0000}
J: 0.1783 along [0.0000 1.0000]

Weight per lineal foot:0.25 Ibs.

Aluminum Alloy:

6063-T6

508545 COVER CAP

HALF SCALE

2
a
=
S S
<
§ — |~ 0.100
o~
~—1.244 —=— 1,256 —
2.500
Area: 1.6983
Perimeter: 31.2602
Bounding box: X: -1.2438 —-— 1.2562
Y: -2.0520 -- 1.9480
Moments of inertia: X: 3.4266
Y: 1.4491
Product of inertiaz  XY: —0.0162
Radii of gyration: X: 1.4204
Y: 0.9237

Principal moments and X—Y directions about centroid:

Weight per lineal foot:
Aluminum Alloy:

HO8857 PURLIN

I: 1.4489 along [0.0082 —1.0000]
J: 3.4267 along [1.0000 0.0082]
1.99 Ibs.
6063—T6

HALF SCALE

0.597

N 9
S <}
3 o
- _—_& ‘
' Ft_’ ‘—1.240————1.t260‘—{
Q! 2.500 {
o
Area: 0.7307
Perimeter; 15.0209
Bounding box: X: —1.2403 -— 1.2597
Y: -0.4032 —-- 0.5968
X: 0.0800

Moments of inertia:
Y: 0.4177

Product of inertia: XY: -0.0027

Radii of gyration: X: 0.3309
Y: 0.7561

Principal moments and X-—Y directions about centroid:
I: 0.0800 along [1.0000 —0.0080]
J: 0.4178 along [0.0080 1.0000]

Weight per lineal foot:0.86 Ibs.

Aluminum Alloy: 6063~T6

S31713 PURLIN

HALF SCALE

=3
D
N
g |
b f )
! —~ |—o0.12s
=3
D
N
[—1.250 —1——1.250 —{
2.500
Area: 1.1875
Perimeter: 19.0000
Bounding box: X: —1.2500 —— 1.2500
Y: —1.2500 -- 1.2500
Moments of inertia: X: 1.1195
Y: 1.1195
Product of inertia: XY: 0.0000
Radii of gyration: X: 0.9709
Y: 0.9709

Principal moments and X—Y directions about centroid:

l: 1.1195 along [0.7071 —0.7071]
J 1.1195 along [0.7071 0.7071}

Weight per lineal foot:1.39 ibs.

Aluminum Alloy:

HO1071 TUBE

6063—-T6

HALF SCALE

IREV. |6Y: | DATE:

i 2.125 I
8~ |—03i3
o
Area: 1.9456
Perimeter: 13.3068
Bounding box: X: —1.0624 -- 1.0626
Y: —-1.5635 ~-- 0.9365

Moments of inertia: X: 1.0731

Y. 1.3224

Product of inertia: XY: —0.0001

Radii of gyration:

X: 0.7427
Y: 0.8244

Principal moments and X-Y directions_about centroid:

Il: 1.0731 along [1.0000 —0.0004]
J: 1.3224 along [0.0004 1.0000]

Weight per lineal foot:2.335 Ibs.

6063-T6

2321
|
1l | l
u') 2 Aluminum  Alloy:
© <)
bt o
S
Area: 0.2955
Perimeter: 6.9688
Bounding box: X: -1.1634 -- 1.1626
Y: =0.1489 ~- 0.2190
Moments of inertia: X: 0.0012
Y: 0.1486
Product of inertia: XY: 0.0000
Radii of gyration: X 0.0634
Y: 0.7092

Principal momenta and X-—Y directions about centroid:
I: 0.0012 along [1.0000 0.0000]
J: 0.1486 along [0.0000 1.0000]

Weight per lineal foot:0.354 Ibs.
Aluminum Alloy: 6063—T6

HALF SCALE

S35591 PRESSURE CAP

NOTES:
1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.

T00985 INTERNAL LUG

HALF SCALE

s
RN

@

sales@acurlite.com

light

acurlite
engineering

Acurlits Screctaral Skylights Inc.
1017 N-;v;::-c. PO Bax$

@ 0794802 ® 0T

2/4/10

©

DADE COUNTY USE

ENGINEER STAMP

Approved as complying with the

Florida Building Gode
D::cl g _/_‘ ’22 Zolo .
NOA# Jo-02/7.07

Proguct Conirol V{\,

Al i

Miami D
Division, {/Z«)
By

7 /)

BILL OF MATERIALS

S SECURE SERIES
1LARGE MISSLE

11 0of 12




-
[}

] < (| e e

N
S
&
1]
o
N
Description: Structural Aluminum Angle bl
Size:3/8 x 4 x 4 ~
Material: Aluminum (Alloy 6061~T6) o
&
©

Description: Gusset Plate
Size: 1/4 Thick
Material: Aluminum (Alloy 6061-T6)

= - 1 5/16" [~

Description: Structural Aluminum Angle

Size:3/8 x 3 x 3
Material: Aluminum (Alioy 6061—T6)

Description: Pop Rivet
Size:1/8 x 1/4
Material: Aluminum

Description: Pan Head Sheet Metal Screw (Pan Hd. S.M.S.)
Size: 10 x 1/2
Material: Stainless Steel

Description: Hex Washer Head Tek Screw (H.W.H. Tek Screw)
Size: #12 x 1
Material: SAE Grade 2 Steel

Description: Flat Head Screw Type "F" (F.H.S. Type "F")
Size:1/4-20 x Varies
Material: SAE Grade 2 Steel

Description: Hex Washer Head Tek Screw (H.W.H. Tek Screw)
Size: 14 x 1 1/2
Moterial: SAE Grade 2 Steel

Description: Hex Washer Heod Screw Type "F" (H.W.H. Screw Type "F")
Size:1/4-20 x 1 3/4
Material: SAE Grade 2 Steel

NOTES:

1. SEE SHEET 4 OF 12 FOR GLASS SIZES AND TYPES.

|
‘ Description: Hex Head Cap Screw with Finish Nut, Flat Washers and Lockwasher
| Size: 3/8-16 x 4 1/2

Material: ASTM Grade 2 Steel

Description: Hex Head Tap Bolt with Flat Washer and Lockwasher H H
Size:1/2-13 x 2
Material: ASTM A449 Grade 5

| e |
Description: Glass Rest
Size: 3/16 Thick
Material: Aluminum (Alloy 6061-T6)

7/16"

Manufacturer: Elbex
Description: Gasket

Material: EPDM Rubber

4

Description: Formed Cover Cap
Size:.040 Thick
Material: Aluminum (Alloy 3003)

7/2.

A X
\/\/\' ”‘\/\/

Description: Formed Pressure Cap
Size:.125 Thick
Material: Aluminum (Alloy 3003)

Manufacturer: Biltrite
Description: Setting Block

Material: Neoprene

1 —3/32"

vz

| |
“ ‘ Description: Hex Head Cap Screw with Finish Nut, Flat Washers and Lockwasher

“ H Size:1/2-13 x 4 1/2

|

H I Size:5/8-11 x 4 1/2

Il
I

Material: ASTM A307 Steel

Description: Hex Head Tap Bolt with Finish Nut, Flat Washers and Lockwasher

| Size:1/2-13 x 1 1/2
T 1 Material: ASTM Grade 2 Steei

Material: SAE Grade 2 Steel

Description: Hex Head Cap Screw with Finish Nut, Flat Washers and Lockwasher

DADE COUNTY USE

ENGINEER STAMP

fipproved as complying with the

Florida Building Code
Date ©

NOA# ) 6 =

1/2.0lo

OA# o7

g
i
N
ENE g
”h%%’té
<R
Vsif°
,‘;,’::éz
i 1H
= 853z
SH
c3 848 5
2
~
3
©
[Va)
|
<
Dyl &
x| wv <
A S
w2
g& =
W — [a'a]
SHEET
120f12




